26. Given: RS = U_‘T and E”; ES'
Prove: ARST = AUTS
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27. If T'is the midpoint of SU, find the values of x
and ST. Ay =2xkdb
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28. Given AQRS = ATUV, 0S5 = 4v+ 3, and
TV = &y = 9, find the length of OS and TV.
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29. Name the Property of Equality that justifies

the statement:
If i = 1, then 2 = 2.
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30. The dashed triangle is a dilation image of the
solid triangle. What is the scale factor?
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31. £1 and £2 are supplementary angles. o) }o

mLl =x-39 and m£2 = x+ 81. Find the 1450°
measure of eaghﬁ angle.
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32. What is the intersection of plane WXYZ and

plane VUYZ? ('{ﬂ“\\
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BIFEF=2x-10, FG =4x— 15 and 85 = 29,
find the values of x, £F, and FG.
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34. CT:Iame the ray in the figure. % :B -\
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35. Find the values of x, y, and z.
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36. Are R, O, and P collinear? If so, name the
line on which they lie.
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37. Find the length of AC. @
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38. Find the value of k.




